m B Al B KSR R

(B )

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1T < A ES 181,739 29.0) 1 86, 756, 996 18.8 477
2 | » 2 B 67,647 10.8 3 38, 358, 597 8.3 567
3 | H (X 5 92,026 8.3 2 61,915, 842 13.41 1,190
4 X ES 5 317,922 6.0/ © 22, 258, 004 4.8 993
5 W ) 4] 33, 595 5.4 1 16, 895, 049 3.7 503
6 n on L 25, 991 4.2 6 17,702, 025 3.8 681
17 1< I+ 23,181 3.7 10 14,551, 188 3.2 628
8 | Iz (A 17,003 2.7 9 15, 868, 113 3.4 933
9 & C 15, 043 2.4 12 8,082, 638 1.8 937
10 = S 5| 11,924 1.9 22 4,266, 609 0.9 358
1L c 7 10, 885 1.7 19 5,444,615 1.2 500
12 | & & Y 10,514 1.7 1] 6, 636, 298 1.4 631
13 [ [F = T 9, 649 1.5 13 1,760, 412 1.7 804
14 | 1= el 4] 9, 256 1.5 1 11,194,742 2.4 1,209
15 | s 9,238 1.5 14 1,183,786 1.6 178
16 | % < %) 8,983 1.4 4 23, 605, 826 5.1 2,628
17 | 1= 5 L] 8,912 1.4 2 4,709, 903 1.0 528
18 O = o) 6, 771 1115 6,971,535 1.5 1,030
19 v Pa) o) 6, 402 1.0 25 3,785, 041 0.8 991
20 WK Cp) L 5,887 0.9 27 3, 330, 654 0.7 566
21 1ZF e E 0,231 0.8 26 3,371,604 0.7 644
22 | A Iz 5| 4,037 0.6 18 6, 108, 524 1.3] 1,513
23 | B A < 3 3,383 0.5 23 4,173,912 0.9 1,234
24 | Z 5 C 3,073 0.5 16 6, 694, 687 1.4 2,179
25 (& ES < Y 2,798 0.4 28 1,528,178 0.3 946
26 | % [0} L] 2,226 0.4 20 5,261,709 1.1 2,364
21 | ¥ El E 1,785 0.3 29 1,391,124 0.3 179
28 1F 5 ¥ S5 H 1,592 0.3 34 649, 249 0.1 408
29 S 1< 32} 1,567 0.3 8 16,514, 939 3.6/ 10,539
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(B%)

o % H HE(Ke) B & #E E(%) FHE
30 | » C E | 1,269 0.2 30 842, 845 0.2 664
3 & A - 1,045 0.2 35 456, 741 0.1 4317
32 | C A A 837 0.1 37 419, 429 0.1 501
3 H H [0} 144 0.1 24 4,171, 000 0.9 5606
K7 A L b 5 961 0.1 42 147, 375 0.0 263
3% | & ) z 533 0.1 33 654, 087 0.1 1,227
36 & el = 464 0.1 31 152,157 0.2 1,621
31 | C ) L 5 388 0.1 39 351,180 0.1 905
38 | L =) 3 > 273 0.0 36 444,046 0.1 1,627
39 B wp 199 0.0 38 384,090 0.1 1,930
40 H <1 131 0.0 32 684, 496 0.1 5225
a1 i E3 - 106 0.0 40 227,799 0.0 2149
42 |12 L A 14 0.0 43 48, 379 0.0 654
43 EL&S (51E) 29 0.0 41 157, 868 0.0 5 444
4 | & & T+ = 4 0.0 44 4,718 0.0 1,19
T2 o it £ £ 24, 882 4.0 1 25,000, 531 5.4 1,005
2 o e E E 1,197 1.2 3 4,394,195 1.0 264
3 T o f B 8 1,575 1.2 2 6,976, 430 1.5 921
4 1% ) fth 1,416 0.2 4 2,678,925 0.6 1,892
fit gl H 626,193 100.0 461,768,150  100.0 131
(HER)

o % H HE(Ke) B & #E E(%) FHE
1 b < A ES 100, 427 25.1) 9 9,176, 582 3.1 91
2 & 7 -\ 65,970 16.5 3 26, 682, 586 9.0 404
3 M »n o h Ly 22,071 5.5 1 13,073, 449 4.4 592
4 & R B F b 20, 302 o1 1 32,910,575 1.1 1,621
5 '@ = Ly 18, 864 4.7 5 13, 985, 631 4.7 141
6 M E3 e I+ 16, 992 4.3 11 8,905, 023 3.0 924
T & z (63 16,472 4.1 2 32, 340, 095 11.0) 1,963
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(RERA)

o % H HE(Ke) RO T & @ E (%) TRBE
8 m pa) D H 13, 311 3.3/ 6 13, 588, 649 4.6 1, 021
9 |'& = [+ 11,120 2.81 10 9,011, 560 3.1 810
10 & Ly ya) 9,624 2.4) 12 7,765,018 2.6 807
IR = [ 9,528 2.4) 16 5, 356, 338 1.8 562
12 & pa) 1z 8, 361 2.1 4 17, 335, 142 5.9/ 2,073
B3 |45 FE £ < 5 % 7,804 2.0/ 8 11, 827, 633 4.0 1,516
14 m = A = 1,172 1.8 15 5,374,376 1.8 749
15 ' & 1= D) 5,790 1.4 14 7,473,944 2.5 1, 291
16 m S 1= T 4,764 1.2 13 7,620,037 2.6 1, 600
17 & & » L & % 4,429 1.1 18 3,557, 051 1.2 803
18 & ) C 2,931 0.7 20 862, 785 0.3 294
19 & ES El 2,458 0.6 17 3,828,140 1.3 1,557
20 &4 J o 4 5 — 1,179 0.3 19 1,253,147 0.4 1,063
21 m S H b 1,109 0.3 21 740, 712 0.3 668
22 m I L A 949 0.2 26 218, 706 0.1 230
2 &5 B T b I 660 0.2 22 610, 400 0.2 925
24 A =3 El 351 0.1 23 502, 929 0.2 1,433
25 m & hoa) IF 260 0.1 27 194, 250 0.1 147
26 | & 1= - 184 0.0 25 284,025 0.1 1,544
27 m < C ) 109 0.0 24 480, 113 0.2 4,405
28 | & ) 1 90 0.0 29 118, 335 0.0 1,315
29 maA v FECAH 61 0.0 28 183, 761 0.1 3,012
30 & A L L — Y 5 0.0 30 6, 825 0.0 1, 365
1 14 B & 26, 839 6.7 1 31,052,716 10.5 1,157
2 = 0O M A& E 12, 840 3.2 2 18, 093, 069 6.1 1,409
3 | o b s B B 6, 469 1.6/ 3 10, 905, 839 3.7 1, 686

- ¥4 y::l B 399, 495 100.0 295, 319, 441 100.0 739
(B8F. MI&H)
o ) = HE(Kg) HEOG ZH @ B L (%) THE(E
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(\F. M)

£

o g 8 #E(Kg) HE% ZH B HE(%) FHEE
15 L) 39, 813 12.6 1 32, 623, 471 10.1 819
2 18 & [+ 32,120 10.3 2 30, 654, 874 9.5 937
3 pa) E3 : 15, 446 4.9 9 12, 264, 966 3.8 794
4 B F 1T o IF 11, 607 3.7 8 12, 335, 963 3.8/ 1,063
5 & ¥ IS 11,303 3.6/ 6 13, 750, 991 4.3 1,211
6 B AN ) 10, 920 3.5 12 8, 553, 480 2.6 183
1 |18 n 5 8,353 2.6 11 9,060, 579 2.8/ 1,085
8 | Bf ¥ 8, 221 26/ 5 14,311, 812 4.4 1,141
9 7 %) 1)) 1,932 2.5/ 10 10, 269, 428 3.2 1,29
0w a9 5 & Y A 1,431 2.4 11 4, 459, 043 1.4 600
nm % < o) 1,079 2.21 20 3, 866, 633 1.2 546
12 & + 6,722 2.1 1 12,888, 714 4.0 1,917
13 | 4] & # 6, 568 2.1 13 6,473, 034 2.0 986
14 | B T C 5, 807 1.8 15 9,125,295 1.8 986
15 |/ & 'Y 5,068 1.6 14 5,995, 359 1.9 1,183
16 B F & E3 4,605 1.5 22 3,105, 826 1.0 674
7|9 5 5 H 4,063 1.3 16 4,621,975 1.4) 1,138
18 | #A + 3,957 1.3 4 14, 344,092 4.4 3,625
19 | Bt L) 3,299 1.0 19 4,128, 627 1.3 1,251
20 1B 3 I+ 3,288 1.0 23 2,216,918 0.7 674
21 | Ly < 5 2,714 0.9 3 15, 020, 596 4.6 5,415
22 | & Y + 2,593 0.8 21 3, 111, 851 1.0] 1,200
23 | H T (& 2,067 0.7 25 1,363,572 0.4 660
24 F ¥ K 1,893 0.6 18 4,156, 479 1.3] 2,196
25 A F W b L 1,732 0.5 28 1,066, 412 0.3 616
26 | 713 %) & 1,689 0.5 24 1,406, 511 0.4 833
21 ' & R I L A 1,439 0.5 29 988, 744 0.3 687
28 |18 ES ¥ 1,080 0.3 27 1,166, 716 0.4 1,080
29 AW F & B L 585 0.2 26 1,197,903 0.4/ 2,048
30 & D ¥+ 448 0.1 30 956, 284 0.3 2,135
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(\F. M)

£

o g 8 ME(Ke) HEOG I & @ HE() THEME
31 ;1 & L & 5 A 420 0.1 32 404, 523 0.1 963
2 K F T A F 402 0.1 33 338, 804 0.1 843
3 | 1= C 32} 382 0.1 31 508, 906 0.2/ 1,332
T2 0o it & ® & 60, 899 19.3 1 44,128,072 13.6 125
2 |2 o M F B 12,758 4.0 2 13,579, 586 4.2 1,064
3 | % D fth 10, 957 3.5/ 3 12,176, 532 3.8/ 1,111
4 | o M v 5 9,892 3.1 4 10, 220, 876 3.2/ 1,033

BF . MImE 316,212 100.0 323,443,447 100.0| 1,023
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